Downl oaded From : http://cbseportal.conl

Series ONS SET-2
Ech
Code No. 5 7/2
et . Themeff e ® SW-YRd & JE8-T8
Roll No. R a9 fad |

Candidates must write the Code on the
title page of the answer-book.

o  FUW WG WA 39 yH-17 H gfed 73 11 T

e  UYA-TA H TrfeA B¢ i 3R Y TT IS TR 1 B STR-YRKHT o TE-T58 W i |

o  FUA WA F A o oW IH-IF H 26 TH T |

o THUIT YYA I ST fT@T IT& i | UgeA, U9 Rl shiieh 319y ford |

e U YW-TA FI YA & AU 15 e &1 wm fean wn ¥ weA-uA 1 faa yatg
10.15 &S TR MW 10.15 991 ¥ 10.30 99 T BT hadd G- &l Teil 3R 30
3Tafy % SRM o IW-YRaIeh! W HIE W &1 feag |

o Please check that this question paper contains 11 printed pages.

o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 26 questions.

o Please write down the Serial Number of the question before attempting
it.

o 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
BIOLOGY (Theory)
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Time allowed : 3 hours Maximum Marks : 70
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There are a total of 26 questions and five sections in the question paper. All questions

are compulsory.

Section A contains questions number 1 to 5, very short-answer type questions of
1 mark each.

Section B contains questions number 6 to 10, short-answer type I questions of

2 marks each.

Section C contains questions number 11 to 22, short-answer type II questions of
3 marks each.

Section D contains question number 23, value based question of 4 marks.

Section E contains questions number 24 to 26, long-answer type questions of 5§ marks

each.

There is no overall choice in the question paper, however, an internal choice is
provided in one question of 2 marks, one question of 3 marks and all the three
questions of § marks. In these questions, an examinee is to attempt any one of the

two given alternatives.
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Que - A
SECTION - A

gral gfaforq 3R E1E saeg &1 ARR-Ygiadl § Guret fa aist |

Write the probable differences in eating habits of Homo habilis and Homo

erectus.

A MieAl & 389 § SIodl o ¥F W CNG & I0Far fqu S o &1 oy
ELIELE

Mention two advantages for preferring CNG over diesel as an automobile fuel.

R AYAFET H 16 UGS Bd § @k 3TH! AET H 32 UGS Bd 1 T HRU
AT |

A male honeybee has 16 chromosomes whereas its female has 32 chromosomes.

Give one reason.

TAN TR §RI GEAC T i o <1 3299 T & 2

Mention two objectives of setting up GEAC by our Government.

MOET ¥ ‘errqafere |f’ &t offeet i ==t ifsre |

Mention the role of ‘genetic mother’ in MOET.

Queg - B
SECTION - B

T AT o1 &1 © 2 39eh! Hedd odisu |

What is aminoacylation ? State its significance.
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7. TUAUHEA H CFCs 3R SNIH & o9 TER a4 Thi AT SIS | 2
3AAqAT

i IYEH TR UWatd -l Bid © ?

Explain the relationship between CFC’s and Ozone in the stratosphere.

OR

Why are sacred groves highly protected ?

8. U H1 W fagaiedl B Wehal & AVl Jaiedl|l Tl W H TA® H 2
Th-Teh QBN od U ATEAT hIFT |

Gynaeceum of a flower may be apocarpous or syncarpous. Explain with the

help of an example each.

9. fgEcET ! 9 TN W Wl HAT G SHEE & fAu Tafus aneEsd g1 2

T NN S U SATEAT HITST |

“Large scale cultivation of spirullina is highly advantageous for human

population.” Explain giving two reasons.

10. SHRIAERRY & SY H A9 TR 5% AW SIAT9s%h wRE Fl A S gl 2

Name a genus of baculovirus. Why are they considered good biocontrol

agents ?
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11. (a)

(b)

(©
(a)

(b)

(©)

Qus - C
SECTION - C

o N

oe S 9fEsA (HGP) # 3dd ffe SH 9 ‘YACQ 3R ‘BACT ®

~

YV SR ‘B forush faw yga e €7 aRASH § 3Tt YfHe Jart |

gkl HFe S bl Yiqeraar faf@e sit 9eHl o1 fedt@d (hied) ]
T R @IS U 3T S ) gfaerddn off saeu | fSees o ot fafeq € 99
fF HGP % 3RH <@ U

HGP ¥ o1kl g 989 T ‘SNP’ &1 qU-q0 T4 faf@u |

What do Y’ and ‘B’ stand for in ‘YAC’ and ‘BAC’ used in Human Genome
Project (HGP). Mention their role in the project.

Write the percentage of the total human genome that codes for proteins

and the percentage of discovered genes whose functions are known as
observed during HGP.

Expand ‘SNPs’ identified by scientists in HGP.

12. 3OO 3R AT foaehmd # X FdRTI Yook ol Ush-TUdh 3IcTe0 <IfSU |

Differentiate between divergent and convergent evolution. Give one example

of each.

13. (a)
(b)

(a)
(b)

(a)
(b)
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T Ay TedfRiyE a5 wE IR fafirednd saE)
3 1 STqwieR T gl % AW FAEe S RIS i Tfaeierdn
1 gfad L 2|

rereT

sl bt forfererar/ gt &1 T feum fF9 IR oy 33 T 2
WY H TH A9 1 AT g © 2

List any four characteristics of an ideal contraceptive.

Name two intrauterine contraceptive devices that affect the motility of
sperms.
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14. (a)

(b)
(a)

(b)

15. (a)

(b)
©
(a)

(b)
©
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OR
How does a farmer use the dormancy of seeds to his advantage ?

What advantages a seed provides to a plant ?

TE W ®Y F @ Wl © o 59 w= 1 A a=ed ® S A o
HhHU B ST ©, B Wehdl & fh SToh! SaEmeeen ¥ I8 U 76 ol fore
Zford H THT GfeRel o TR 1 SR Fdid g¢ SATEAT HiST | 39 YR &
Yfaeer 1 A §dsY |

TSI FI1 BId 8 7 SThT YfHeRT Famsy |

It is generally observed that the children who had suffered from

chicken - pox in their childhood may not contract the same disease in their
adulthood. Explain giving reasons the basis of such an immunity in an
individual. Name this kind of immunity.

What are interferons ? Mention their role.

3 TERATA IS deheiiehl i 1 HUTE FIq1eT S §eH Jae= i agan ot
g
geH JaEd o g oA SRy |

T IeTeU SfeT Sel 39 fafy sl =Aifieh &R W 379m Sl R

Write the two limitations of traditional breeding technique that led to
promotion of micro propagation.

Mention two advantages of micro propagation.

Give two examples where it is commercially adopted.

16. TIHe IR fgdias omehd # o JaEu| I &1 TH-Ush IS of fu |

Differentiate between primary and secondary succession. Provide one example

of each.
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17. UL F] AR ¥ SRR e AFT Sar 81 aias o fordt wevelt &) g
T FhRIeT iR ey |

Predation is usually referred to as a detrimental association. State any three

positive roles that a predator plays in an ecosystem.

18. TSR felriHs =l & IU=R § Usigd-gfaweme fafecn st =amean swifs |
3 fafy o < THuE saRy|

Explain enzyme-replacement therapy to treat adenosine deaminase deficiency.

Mention two disadvantages of this procedure.

19. (a)
(b)

(a)
(b)

20. (a)

(b)
(a)

(b)

21. (a)

(b)
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St fRam digei &1 0 ffg YR #ed © 2 2 3SR S|

WA sk fafeel iR Swiea frami & Uy # fd JaRy |
How do organic farmers control pests ? Give two examples.

State the difference in their approach from that of conventional pest
control methods.

SauEnfent & YA | HIPeRT & Hem ! 99 WA €1 W e H

hfeaaq 3 fhe TohR TeEdl idl ¢ 2

Stagrenfitent g | Sramatie (SiF) T @ fie dast |

Why must a cell be made ‘competent’ in biotechnology experiments ? How

does calcium ion help in doing so ?

State the role of ‘biolistic gun’ in biotechnology experiments.

FAHT AL (Hagh ) pBR322 H =R 41y Fogaeh 1 910 a0 ]
ftreht st ot ==l i

FI FAT TC FagAent i a1 § TsieH B iaeiaEest o ISt STIhH

Teh o0 Ay TagAs A1 S &, i 2
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(a) Name the selectable markers in the cloning vector pBR322 ? Mention
the role they play.

(b) Why is the coding sequence of an enzyme B-galactosidase a preferred
selectable marker in comparison to the ones named above ?

22, TRIeTel ShiF T TA1 € 2 SHY WY i fouHgrESan &1 uar feed €9 9 fRhy 7R

TR ST ekl © 2

What is a test cross ? How can it decipher the heterozygosity of a plant ?

Qug - D
SECTION -D

23. 3N R A TG 31k faanfed dufa € s f.9am €1 o8 Se @ a1 § f
IRae™ § <fd & f:9a g1 & faw ©f &1 € <l 3en S <)
(a) YRaed ¥ 39 yiferfadl & g St & € Sl . 9 S g 2 ofu A
Y& I T IS <1 Jod Jdey S Tk Sid foH 16 84 & A 31
39 9IRS 938 Sl U HE & fow giemfed |
(b) 3TIERAl o faIT SRR *E A HRO TR |
(© =7 uRkfeafadi § el 7& <l 8, Tk dh-ish o1 ged sifee fSad <ufa 1

Hafd 9T wid H HeIdl fAa 9o |

A large number of married couples the world over are childless. It is shocking

to know that in India the female partner is often blamed for the couple being
childless.

(a) Why in your opinion the female partner is often blamed for such situations
in India ? Mention any two values that you as a biology student can
promote to check this social evil.

(b) State any two reasons responsible for the cause of infertility.

() Suggest a technique that can help the couple to have a child where the
problem is with the male partner.
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24. (a)

(b)

(©)

(a)

(b)

(a)

(b)
©

(a)

(b)
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Qug - E

SECTION - E

3 T gfg Aiedl & M wqEy s gute ghg w1 ey w9 € a3
Aredl gAY F&fya gfg ashi &1 M@ s= R |

T S5kl ol STRId H 3TH dTcl 3TaX 1 STYR AR |

3 AFE A gig &1 80 I o aohl § ¥ dH-9 95 R 8l
?2 oMU ® G € % 0 a8 o Al Tafy q o | Thar 87 ST
I o GHA H HRUT TR |

SPEN

BIe-4 dA o 30T i el ¥ AR Shifse foh qiiiad & IR <&
Teh T i 9ifd 59 & wd §2

e H qRft S aTelt WrR-g@an o fve w1 AW fafau |

Name the two growth models that represent population growth and draw

the respective growth curves they represent.
State the basis for the difference in the shape of these curves.

Which one of the curves represent the human population growth at
present ? Do you think such a curve is sustainable ? Give reason in
support of your answer.

OR

Taking an example of a small pond explain how the four components of
an ecosystem function as a unit.

Name the type of food chain that exists in a pond.
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i § 3Tda Yo i SRAT HiIfST | 38 JE & S FAShrEl 3R
fafegedt gl & W &1 == FifS |

AT 1 YEhIT FTTEN 1 JERIGHET raeen ot =i Fed €7 e
HITSTT |

S ok T AR ITHh a% ATHN e § B ol SIS Sl AT
SHiTeT |

TTHT I 1 NG ST 991 IH TEeR (antrum) T fgdlas e o1

ik IS |

AT
St fomm & ©& aftss faeneff 89 & 0 eush! wa1 T § R e o
T & Yol TR & B *1 3A frafafe &1 freey X 58 3%
SvafdTfl e H T-TXAT0 T GHA W ST ST 379k §NI AT T
forferst <ol =t = IR do1 374 9 g% =0 & fou R ff FdEy|
T AEatsl 98 o & SN &l i FIE H TRG IABY, T 394
HFad, GEHER, YUIRY IR TEetey] fgdias (FHed) 1 AHishd Hifa |

Explain the menstrual phase in a human female. State the levels of

ovarian and pituitary hormones during this phase.

Why is follicular phase in the menstrual cycle also referred as proliferative
phase ? Explain.

Explain the events that occur in a graafian follicle at the time of ovulation
and thereafter.

Draw a graafian follicle and label antrum and secondary oocyte.
OR

As a senior biology student you have been asked to demonstrate to the
students of secondary level in your school, the procedure(s) that shall
ensure cross-pollination in a hermaphrodite flower. List the different
steps that you would suggest and provide reasons for each one of them.

Draw a diagram of a section of a megasporangium of an angiosperm and
label funiculus, micropyle, embryosac and nucellus.
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frefafad g (HRTT) &t STT{ERe e STl e Th 7l & dd a9
T S Tl W ol S q91 FASR S A W Sl shid foRan e 99 B,
et 98 da SR S oS 9 91 g, B, 9Eie ® @ 9| e T
Tqo AL GEUT A 9 : 3 : 3 : 1 I gl |

S PEN

() TEFIFRY & JEdaEg TA &1 9uH ST 3Tk R 9T IR &
e @i ==l HIIT |

(b) HAfgeiis, Hedl Td Wl & INEH &R |

Give a genetic explanation for the following cross. When a tall pea plant with

round seeds was crossed with a dwarf pea plant with wrinkled seeds then all
the individual of F-populations were tall with round seeds. However selfing
among F,-population led to a 9 : 3 : 3 : 1 phenotypic ratio.

OR

(@) Describe the series of experiments of F.Griffith. Comment on the
significance of the results obtained.

(b) State the contribution of Macleod, McCarty and Avery.
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